ASSEMBLY INSTRUCTIONS

KEEP THIS DOCUMENT FOR REFERENCE IN CASE PARTS ARE NEEDED

DO NOT TIGHTEN SCREWS UNTIL COMPLETELY ASSEMBLED !!

NO DESCRIPTION | QTY | [NO DESCRIPTION | QTY
A W Headboard Ipc 1 JCBB M8 x 20 8pcs
B % Footboard Ipc 2 JCBC M6 x 30 8pcs

. . 3 @) mmmm) JCBC M6 x 50 6pCS
C Ci\ C% Side Rail 4pcs
D Nﬂ Headboard Legs 2pcs 4 1CBC M6 x 60 Spes
o
- 5 / Wrench Key 65mm | 1pc
E |I Support Legs 8pcs
6 / Wrench Key 70mm | 1pc
F % Legs 2pcs
_ 7 | G CSK Screw 32mm 28pcs
G Side Rail Legs 2pcs
8 @ Spring Washers 6pcs
H \ Center Rail 4pcs
9 Flat Washers 8pcs
I % Slat 14pcs
10 é Adjuster 8pes
& WARNING: To avoid serious personal injury:
¢  Carefully and strictly follow assembly instructions. Improper assembly of l l USB Port lset
furniture can result in structural failure, instability of the product, or tip-over.
*  Monitor and carefully control the assembly components. These include small 12 @Nm’ CSK Screw 16mm 4pCS

parts and hardware that may present a choking hazard to small children.

Bob's furniture should be assembled only by responsible adults and children

should not be involved in the assembly process

Where provided. wall mounting hardware should always be used as

prescribed in these instructions to anchor furniture to wall. Proper use of the

wall mounting hardware can significantly reduce the potential for furniture

tip-over and crushing injuries.

PAGE 1 OF 4




ASSEMBLY INSTRUCTIONS

STEP 1:

Unzip the black non-woven fabric on the back of headboard and take out the part.

Attention: Zip the black non-woven fabric after take out the parts !!

BACK VIEW

STEP 2 :

Fix the headboard (A) and headboard legs (D),Then fix the footboard (B) with footboard legs (F) as shown.

STEP 3:

Attach the JCBB Bolt (1) to the headboard and footboard.

FRONT VIEW

PAGE 2 OF 4




ASSEMBLY INSTRUCTIONS

STEP 4:

Attach the side rail leg (G) to the side rail (C).

STEP 5 :

Attach side rail (C) to headboard (A) and footboard (B) by pushing the bracket down to fit it.

STEP G :

Attach the support legs (E) to the center rail (H) and slats (I) of the bed as shown.

ATTENTION:
Please keep the adjuster around 5 to 8 mm
distant away from the floor.

PAGE 3 OF 4




ASSEMBLY INSTRUCTIONS

STEP 7:

Affix the Slat (I) to the side rail support wood. Tighten all the 4 corner.Tighten the slats with CSK screw.

STEP 8 :

Attach the USB at the back of the headboard (Screw in at the marking provided).

PAGE 4 OF 4




